VIELER

Bistro 35
Series Bistro




VIELER

Product characteristics

Assembly possibilities

39,5 30

30

29,5

Ay mmm
‘![c‘ N

Y% N

30

max. dimensions: length 1400mm height 600mm

2 4.1.01 [15] Bistro 35



VIELER

Planning information

Assembly information

b) c)
3
5{ 50{ J
/{:_% o
|
|
M4 M4 :
|
|
|
[ | -
|
|
|
|
|
|
|
[ |
50 I
I S
3 a5 1 J =5

AL Jo-e

a) |

O
— |
— |
T~
]
——
]
]

a) Strut fixing 11.414.5581.000 b) Glass hole @18mm c) Glass bracket 11.414.5570.000
max. dimensions: length 1400mm height 600mm

Tiltable hinge

sa ST L AT

a) Nut M5; secure thread with Loctite!

Use template 042.02960.000
b) Strut fixing (for 10° 11.414.5509.000 / for 20° 11.414.5582.000)
max. dimensions: length 1000mm height 600mm

4.1.01 [15] Bistro 35



VIELER

Tiltable hinge 360° (11.414.5540.XXX)

O

I Tl
(i 360° 85| ||| |~ B LT“
172854 [ [
‘8 o=y
ﬁ P 220 | 2 ||%
/;/ -? ‘ _\\/
ya \
27 \ @ \
i @7,1 |32 ‘
ya | oA O l
v | |
\ \
\ 15
U !
J ; T ~[ S— h— Y
JLILE 18240 Y
i 2L =l )

max. dimensions: length 1000mm height 600mm

Tiltable hinge 360° with lock (11.414.5546.XXX)

360°

60

ALIALE Te-e A

Tilt-forward hardware for front glass

max. dimensions: length 1000mm height 600mm

4 4.1.01 [15] Bistro 35



VIELER

possible angle positions 105°/160°/220°

N i |
|8 A Y I :
I ( ERE:
ez 7 N ‘
///// \\\ N 5 ‘
“ | AN :
|
|
|
|

glass cut-out

a) hole for nut M5 thread to be secured with Loctite
max. dimensions: length 1400mm height 600mm

;i
e
\H}\
R
I
I
I
| "y,
"
! vy
| 1y /
| / 1y y
// 1y
| //// //
| 11/
| //;/// /
I
| / 1y /
")
! ///// /
I "' /
I oy
i iy
[ ey
/
| M8 ///////
i T
wr - an/ 44/ | (L-—-——_—-__= fa=a
L =
I 30/ / { ( Satmall

a) strut fixing (for 10° 11.414.5509.000 / for 20° 11.414.5582.000)

4.1.01 [15] Bistro 35



VIELER

Bistro 35
Picture Product Part number
Profile 5000mm 11.052.1204. XXX
Profile 5000mm 11.052.1201.XXX
8 %/ \ ﬂ
Q : g
Profile 5000mm 11.052.1202. XXX
2|8 JESS
Tl %2
Frame profile 5000mm 11.054.0573.087
% plastic clear
D=
End piece 11.414.5519.XXX
@35
End piece 11.414.5518. XXX

| End piece for glass fixing 11.414.5570. XXX
|
§ 8/10[ L

6 4.1.01 [15] Bistro 35



VIELER

Picture Product Part number
M8 x 60 DIN 912 M8 Strut fixing 0° 11.414.5581.000
20/ 10° 11.414.5509.000
1020 20° 11.414.5582.000
<
s
£
10 Rose 11.414.5603.XXX
‘ 5
@ s
<
Strut fixing 0° 11.414.5507. XXX
@ S ]m
[ Q ;
90~
E\ M8x35
Bracket @ 20 11.414.5534. XXX
2
0|
2 | 6.7
o
M4 Q%
6,7 Bracket @ 20 11.414.5202.XXX
M horizontal
wn
o~
{ @ Jin
()
55,3
Bracket @ 25 11.414.5532. XXX
=
© I
. s )]s
M4 -
30
6,7 Bracket @ 25 11.414.5533. XXX
r horizontal
~
o~
Jwn
()
54,5

4.1.01 [15] Bistro 35



VIELER

Picture Product Part number
Bracket 11.414.5530. XXX
225
%m 27,5
77 Bracket 11.414.5531. XXX
1 horizontal
@ 1
36 ! 27,5
\% 50 ‘
24,5 \‘—1
20,5
Profile 5000mm 11.052.1200. XXX
@ B
2353 End piece 11.414.5510. XXX
2286
7
g 22[ ) ‘ .
|
|
|
|
BUWN
End piece 11.414.5512. XXX
-+ Support fixing 0° 11.414.5574. XXX
g ]
S i
A *
?@ |
- Strut fixing 0° 11.414.5580.000
Q@ H
é T

8 4.1.01 [15] Bistro 35



VIELER

Picture Product Part number
Hinge 11.414.5585.071
@ @35 160°/220° (stainless steel)
@ o
/% mj Locking at

105°

105°/160° / 220°

Hinge 360°

11.414.5540.XXX

Hinge 360° with lock left 11.414.5535. XXX
with lock right 11.414.5536.XXX
o
& < Note:
/ % for angled corner struts
30/ Hinge 360° with lock 11.414.5546. XXX
M % - with lock
A
e e T Note:
60 %% for angled corner struts
Intermediate support 200mm 11.414.5522 XXX
250mm 11.414.5523. XXX
length max. 360 mm Xxxmm 11.414.5565.XXX
m 15kg L= 250 mm
Support 250mm 11.414.5560.XXX
300mm 11.414.5561.XXX
length max. 430 mm XXXmMm 11.414.5568.XXX
Eﬁ 20kg L= 300 mm
Support 20° 250mm 11.414.5562. XXX
300mm 11.414.5563. XXX
length max. 430 mm XXXMm 11.414.5569.XXX

m 15kg L=300 mm

4.1.01 [15] Bistro 35



VIELER

Picture Product Part number
Intermediate support 20° 200mm 11.414.5526. XXX
250mm 11.414.5527 XXX
length max. 360 mm XXxXmm 11.414.5567.XXX
’ﬁ—_" 12kg L= 250 mm
o
\/ﬁ\ M8
" Profile 5000mm 11.052.3318.XXX
m }“
[E—
16
Mounting plate 11.414.5630. XXX
Il Il
o
™ Support fixing 0° 11.414.5558. XXX
? 10° 11.414.5573.XXX
S S 20° 11.414.5559.XXX
N
Ki .
End cap 11.414.5550. XXX
End cap 11.414.5571. XXX
for 10 mm glass with cover cap
Support fixing 0° 11.414.5575. XXX
for 10 mm glass with cover cap 10° 11.414.5572. XXX
20° 11.414.5576.XXX

10 4.1.01 [15] Bistro 35



Picture

Product

VIELER

Part number

@‘“\a

<
>
o
13

Fixing for intermediate bracket

Glass frame profile

00
10°
20°

5000mm

11.414.5556. XXX
11.414.5577. XXX
11.414.5557. XXX

11.052.1205.XXX

Tilt- base profile

5000mm

11.052.1206. XXX

Rose for tilt-forward hardware

end

11.414.5653. XXX

Rose for tilt-forward hardware

center

11.414.5652. XXX

Bracket

11.414.5537.XXX

drill device
for strut Bistro 35

18.042.0293.000

4.1.01 [15] Bistro 35

11



Picture

Product

VIELER

Part number

12

drill device
Hinge 360°
11.414.5535. XXX
11.414.5536.XXX
11.414.5548. XXX

18.042.0296.000

4.1.01 [15] Bistro 35



